Find the angle between the vectors v =21+ 2j+kand w=2i+2j— k.
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Find a such that u = 2i — j + ak and v =1+ 4j + 2k are perpendicular.
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If w = w;i+ wsyj + wsk is perpendicular to u = i—lﬁ-j—kaﬂdv: 2i+j+k, and if ws = 2,
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[fv=i+j+kandw=2i—k, find [proj,(w)|.
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The radius of the sphere z? +y* + 224+2c+4y—62=3 is
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The area of the region enclosed by the curves y = 22+ 1 and y = 2z + 9 is given by
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Let R be the region between the graphs of y = 22 and y = z. Find the volume of the solid
generated by revolving R about the z—axis.
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